FERRARI Motor mowers, FERRARI 2-wheel tractors - "DUPLEX" CUTTER BAR PROTECTION

IFERRARIJ] 14A.03.A0001 02 - "DUPLEX" CUTTER BAR PROTECTION

- |4l
[
7o
16
N
AN

EERRAR)

_—

31/08/2021
Page 1/2



Pos. Id Q.ty  Description Note

1 56358566 WASHER 15X20X2,5

2 30010144 SILENT-BLOCK

3 59252381 COMPLETE DUPLEX PROTECTION REPLACES 59252272
3 59252390 FRONT DEFLECTOR

4 58058562 SPECIAL SCREW M14X45

5 55143495 PLUG

6 31111331 SCREW TE M14X50 UNI5739 8G

7 31241080 HEXAGON SELFLOCK NUT M8

8 31241060 HEXAGON SELFLOCK NUT M6

9 31241140 SELFLOCK NUT M14

10 31423150 SPRING WASHER EL 15 DIN 137-B
11 31112152 SCREW TE M8X30 UNI 5739 8G

12 31111091 SCREW E M6X14 UNI 5739 8G

13 56359180 CONNECTION

14 56358563 CONNECTION

15 53052175 MEDIUM FERRARI BRAND

16 58057769 DECAL

17 58040548 DECAL

18 53058850 TORX BRAND

19 58057724 DECAL

FERRARI Motor mowers, FERRARI 2-wheel tractors - "DUPLEX" CUTTER BAR PROTECTION 31/08/2021

IFERRARIJ] 14A.03.A0001 02 - "DUPLEX" CUTTER BAR PROTECTION Page 2/2




